6. Explain the following :
(i) Stability of conjugated diene
(i1)) Acidic nature of alkynes CH—OZ
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7. What happens when : CHEMISTRY
(i) Benzene is Ozonised ? (Organic Chemistry)
(ii)) Toluene reacts with methyl chloride in the Paper : CH-02
presence of anhydrous AlCl; ?
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given

8. Write short notes on the following : INSLructions.
(i) D.D.T. T - o' ea-u= ‘e’ &R ‘a0’ | wuel # fawife €1 e
(i) B.H.C. Tue & FMRUgER ¥e % W ST
(i) P.V.C. . Section—A 4x1%=7
0 @ g"}; fewator et (Very Short Answer Type Questions)
(i) =T, Note — Answer any four questions. As per the nature of
(iil) == the questions delimit your answer in one word,
9. Give difference in SNI and SNZ reactions. one sentence or maximum up to 30 words. Each
Syt T Sy2 sifufwenstt § o= =aEu question carries 1% marks.
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1. (1) What is Hyper Conjugation effect ?

AfTEHT guE = ¥ ?

(ii)) What are Clathrate Compounds ?
FAgE AR w0 T ?

(ii1) What is Conformation ?
TEIU FM ¥ ?

(iv) What are Flagpole Hydrogens ?
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(v) What is Saytzeft’s rule ?
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(vi) Give Markovnikov’s rule.
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(vii) Write resonating structure of Phenol.
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(viii) What is benzyne intermediate ?
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Section-B 4x7=28
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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. What is Nitrene Intermediate ? Give one example

of reaction in which nitrene intermediate is
formed.
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. Write short notes on the following :

(1) Walden Inversion

(i1)) Molecular Chirality
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. Explain free radical mechanism of halogenation of

alkane.
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. Give two methods of preparation of Cyclopentane.
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